X
N

0—3

<d @> (rad)
o
[N
[¢)]

......

............

100,

-1

0 1 2 3
TP n (PCA to beamline)

0.05]

-0.05

-0.15

Ratio

< o cot(y) >
o
[N
[¢)]

x107°

......

...................

19 b N w N

(o0 kAT L A il AR

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO

—— DQM_V0001_R000000001__Global__mkFitNewSEED1000time_ RECO

< 00, > (M)

—~

100,

T TR T E 5 e
80 ] 1 -t = 80pr SR T e i

" 1 " X A " "
60 - .- M - 5 60[HH -k A EE - b

5 LR ' IS ; 5
40 ‘ - v 40 -1 4 I+

=
9
LN
)
S

RatioI

4

-2

-1

0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (70)
O = N W N O

Ratio

T T e [T T T T T T [ T T [T LT[ T T TTIT[TTTT

2 3
TP n (PCA to beamline)

|
[e2]
o
(O DL LA AL L L L L L L LU AL
|
[e2]
o

iy
UL LN LS AL

<+

w

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


